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mx*+m(a+b)x+mab =mi{x*+ (a+0b) x+ ab}
=m(x+a) (x+b)
R ETE D,
O F9, XBEREXSDINE I DHERL, i< 5,
@ WITKAKXNEZD0E I DHEND D,

< 5 >

32+ 9x+6=3x*+3x+2)=3(x+1) (x+2)
3 TLKK b,
3 DfEE

20°—8y*=2(x*—4y*) =2 (x+2y) (x—2y)
2 T K %,
2 DfEEK

2+ 8x*+16x=x(x*+8x+16) =x(x+4)*?
N x5,
x PN 3 K 5

(1) WOKXZREDR LSV,

DO 2x*—4x+2 ®@ 5x*+10x—240

® 6x*+6x—36 @ 16x*— 36y*

r’+7x+12x

2%+ 6x*—20x

8a®+ 24a°b+ 18ab*

a2x2 _ xZ

3ab®— 36ab*+ 108ab

B K%

r+9x*—22x

3ax*— 6ax— 105a

2ax*+ 20ax+ 48a

— 2+ 4x*—3x

a4 r’—x—38
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— POINT ® xX*+7x+12x ® x*+9xr°—22x
=x(x*+7x+12) =x(x*+9x—22)
mx*+m(a+b)x+mab =mi{x*+ (a+b) x+ ab} =x(x+3) (x+4) =r(z—2) (x+11)
=m(x+a) (x+b)
B DR TE D,
O F7, XBEREXHDINEI DHERL, X< 5,
@ WIZAKXBFEZDNE I DIHEND D,
@ 2x’+6x"—20x 3ax*—6ax—105¢a
< B> =2x (x*+3x—10) =3a(x*—2x—35)
=2x(x—2) (x+5) =3a(x—17) (x+5)
3x°+9x+6=3(x"+3x+2)=3(x+1) (x+2)
3T K %,
3 DfFH
, o N © 8a’+24a*b+18ab* 2ax’+ 20ax + 48a
R PRSP =24 (4a>+12ab+ 95°) =2a/(2*+10x+24)
0 D [EEK =2a(2a+3b)* =2a(x+4) (x+6)
2’ +8x'+16x=1x (x*+8x+16) =x (x+4)°
N xT<< 5B,
x A R %K
@ o' @ —x’+4x"—3x
=x*(a*—1) = —x(x*—4x+3)
(1) WORXZ RS L S0, =x*(a+1) (a—1) =—x(x—3) (x—1)
O 2x*—4x+2 @ 5x*+10x—240
=2(r*—2x+1) =5(x*+2x—48)
=2(x—1)* =5(x—6) (r+8) 1
@ 3ab’— 36ab’+ 108ab 4 r’—x—8
=3ab (b*— 12b+ 36) .
= 4 (x*—4x—32)
@ 6x*+6x—36 @ 16x*— 36y* =3ab(b—6)?
=6(x*+x—6) =4 (4x*—9y?)

1.
=6(x—2) (z+3) =4(2x+3y) (2x—3y) =4 (x—8) (x+4)



